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1. (13%) Find the volume (§##%) of the largest rectangular (4£7%) box in the first octant

(% —#hR) with three faces (&) in the coordinate planes (EAZF &) and one vertex (TR EE)

in the plane 3x+ y+2z=12.
2. (13%) Find the area of the region above the line = csc@ and inside the circle » = 2.

X +5x% —4x+4
—2x+1)(x* +x+1)

3. (13%) Evaluate the integral J'( >
X

4. (13%) Find the volume of the solid ( B £ ) that lies under the paraboloid (344 &)
z=x"+ 3, above the xy-plane, and inside the cylinder (BA®) x* +y* =2x.

5. (12%) Evaluate the integral I sin(Inx)dx .

(x* +3)*°(3x+2)?

Vx? +1

6. (12%) Let y =

- Use the logarithmic differentiation ( %244 %-7%) to find iz—'lxy .

7. (12%) The region in the first quadrant (% — % f&) bounded by x =0, y =sin(x?), and y = cos(x?)
is revolved about the y-axis. Find the volume of the resulting solid.

8. (12%) Find the interval of convergence (¥ #& & f) for Z Bx=1)"Inn :

n=2 n.sn






